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258 Force for the Lennard-Jones potential

The Lennard-Jones potential for two air molecules is

e =<|(2)"- (3

where a is a constant with units of meters and ¢ is a constant with units of energy. (1315p2023)

a) Determine an expression for the force associated with this potential. This is the force

that one molecule exerts on the other.
b) Determine the force when 2z = a. For air a = 3.42 x 1071%m and ¢ = 1.65 x 10721 J,

) Determine the force when x = 2a. For air a = 3.42 x 1071%m and ¢ = 1.65 x 1072 J.
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